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FAftad w6 3 (R # | T W AR o FeR B gu a2 e iPlease
ensure that the answer booklet contains 12 sheets duly stamped and signed in each page.

gad #t T T 7 9 755 §

Please ensure that the Question Booklet contains 9 pages.

IR Fael I R 7 B STdAnswer should be written only in the answer booklet.

" fr weeT @ 3R e W Wl wer dear R

Quote the exact question number while answering the question.

3R e & v Faa o ar R Gr & FaT 7 AT FV
Use only Black or Blue ink pens to write the answers.

foamaT w3 va Tase giHandwriting should be neat and legible.

T T 2w arar $(3EROT T WRT G ) JEF A eTyr FE 8 G A, T SRS
W T a1 A ey 3o G & R o s A A fod

Do not write your name, designation, office or put any indication in any part of the answer
booklet except in the space provided (in the fly-leaf at the cover).

amgw v, SR, e AR AR sdwiee SuERor ofe e & 9@ A saAfy At §

Electronic gadgets such as cell phone, pager, calculator etc. are not aliowed inside the
Examination Hall.

W Wt & 3w A= KAl questions carry equal marks.

Wl ST A A Bl AT west o3 R

Answer any FIVE of the questions from each Part.
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PART-A
(50 Marks)

L Please read the following paragraph carefully and answer to the 5x2=10
Questions given below:
EAVE ON AVE PAY

A Railway servant permanent or temporary other than one wha is serving in the Railway school
shall be entitled to 30 days leave on average pay in a calendar year. The leave account of every Railway
servant shall be credited with leave on average pay in advance in two installments of 15 days each on
the 1* day of January and July every calendar year. The leave at the credit of a Railway servant at the
close of previous half year shall be carried forward to the next half year subject to leave so carried
forward plus the credit for the half year does not exceed the maximum limit of 300 days. A Railway
servant may be granted maximum leave on average pay at a time upto 180 days. A temporary Railway
servant who has completed three years continuous service shall be entitled from the date of completion
of three years continuous service.

Questions:
(1) Who shall be entitied 30 days of leave on average pay In a calendar year?
{2) In how many instaliments the leave on average pay shall be credited in every calendar
year?

(3) How many days of leave on average pay shall be credited in every calendar year?

(4) How many days of leave on average pay may be granted maximum to a Railway Servant
at a time?

(5) When the 15 days of leave on average pay shall be credited in every calendar year?

il Write an Essay in any one of the following topics in 100 - 150 words. 1x10=10

(1)  REPUBLIC DAY CELEBRATION
(2)  UBRARY
{(3)  Dr.B.RAMBEDKAR

. Write the Past Tense of the following verbs: 10x1=10
(1) Sit
(2) come
(3) read
(4}  think
(5) do
Write the opposite (Antonyms) words of the following:
(6} Up
(7) Bright
(8) Beautiful
(9) Day
(10) Sad



V.

Write the SINGULARS of the following words: 10x1=10
(1) Wives
(2) Women
(3) Teeth
{4) Daughters-in-law
(5) Pens

(b) Write the following words with correct speliing:

(6} DEPARTMANTAL
(7) ESTEBLISHMENT
(8) DELIGATION

(9) RESURVATION
(10}  RECRUITEMENT

V.(a) Flll In the blanks with the correct verbs from those In brackets:
(1) Johnismy_________ brother. (younger, young, youngest)
(2) Heis than his sister. {old, older, oldest)
(3) Ramu is than Somu.(strongest, stronger, strong)
(4) Ironis than any metal. (useful, most useful, more useful)
(5) Rama’s mango is . (sweeter, sweet, sweetest)

w-

(b) Match the following:

A B

1) R.D.S.0. a) | VARANASI

2) |[Dw b) | NEW DELHI

3) RAILWAY BOARD c) KAPURTALA

4) RCF e) BARODA

5) NAIR f) LUCKNOW
Fill in the five blanks in the following sentences with suitable 10x1=10
Articles ‘@’, ‘an’ or ‘the”:

(1) The world is happy place.
(2) Ceylonis island.

(3) Which is longest River in Indla?
(4) sun shines brightly.
{5) French is easy language.

Fill in the blanks with the correct verbs from those In brackets:
(6) The earth round the sun. (move, moves, moved)

(7) | him only one letter up to now. (sent, have sent, shall send)
(8) The Headmaster to speak to you. (wants, is wanting, was wanting)
(9) 1 fifty next birthday. (am, shall be, have been)

(10)  She jumped off the Bus while it . (moved, had moved, was moving)

5X1=5



HW-GPART - B

(50 3FMarks)
VIl. AT SPIE SRl in the blanks: Sx2=10
1. f&ér &r Aoow ——e- fafr # *h o8 B
"Hindi” means Hindi in Script.
2. & ww it Reg —— g & HT4T A g
Hindi Day is celebrated everyyearon___
3, mmmmﬂmm—-—#mmm

The periodicity of the meetings of the Committee of ZOLIC is once in
4. TSI A F WEUET ¥ HTER-———&F 39y g
There are Regions as per the provisions made in the Official Languages Rule.

5. Lyt L o) e—" ol

The department of official language comes under the Ministry of

vill 2 qr /Say "YES' or ‘NO’ of the followling: 10x1=10

1. T SHURTINE T ) Aa1968 & IER Alfaw dameed o
nfEadt & @ & Bl
Censure is one of the Major Penalties as per Railway Servants {D&A) Rules, 1968.
2. U W FAIRY N Mg E & et Tagewa B T §, SR

FITOT & IHTa AT Bl A Railway servant employed in a confidential capacity
comes under Continuous Classification.

3. oy oo gedt 72.01.09.2008 @ oy #r a1 |
Child Care Leave was introduced with effect from 01.09.2008.
HOHETF 9 TUE U= & ISupernumerary posts are permanent posts.

WRAF FAAIROT W & TF W FWan), W R F a7 o F &
#r gt 1000 ol F Fmer @ W 10 Rt F Friager awa F Re a7 &

A Railway servant is entitled for 10 days of joining time if the distance is more than
1000 kms. between the old and new station on administrative transfer.

HEI_3I6X_Tei/Choose the correct answer;

6. AT AR 1 YUH TU=- FHA — - 9
———————— was the first Prime Minister of Independent India?
A. MR o3 9d Govind Ballabh Pant B. SIATGLAITA sigGlawaharlal Nehru

C. gow g d1¥Subhash Chandra Bose D. #ER as+mé w2« Sardar
Vallabhbhai Patel




7. oo R e SE——

is the longest Railway Platform in India.

A. 7IREYUGorakhpur B.RAATAYY Bilaspur

C.¥RIgUChandrapur D. FFqU/Kanpur
8. ART & T Il —————3F)
Indian National Animal is

AT/ Cow B.#1Y/Elephant
C. &Y Uon D. dTe/Tiger
9.  HRA W Gy ¥ W RuAT ———%)

The largest Railway Station In Indla Is

A. ®ITRIKolkatta B.7W§/ Mumbal
C. IgHACMIGAhmedabad D. §r@sHowrah

10. st AW IREE A g A e —3
The date of death of Dr.B.R.Ambedkar is

A 14 anuary B. 6™ ™ pacember
C. 14% mtwApril D. 6" October
A TR Tichoose the correct answer: - 10x1=10

1. &, 9RT ¥@9 i TTHNT ———————ARE B T 1

Hindl has become the Official Language of the Union of India on
(a) 26.01.1965 (c) 26.01.1950

(b) 26.01.1967 {d) 15.08.1950

2. USNDW At W —e € gRur Ree snde Sy fRr ST ¥
sets of Privilege Ticket Orders can be issued to a Gazetted Officer in a year.

(a)9R Four (b)=T Three

(c)&: Six (d)31TS Eight



A W W Heawy —t R R
The Headquarters of Central Railway Is

(a)IRTIINagpur E);;Tl_mnahabad
(cTaeTqIabalpur (d)¥{¥% Mumbal

W FHER (e @ ) g

The Railways Servants (Discipline & Appeal) Rules,

(a) 1966 {b) 1968

() 1960 {d) 1996

werY fear FREwT ———F Ry .

Integral Coach Factory is situated at .
(a)RA{S*IChitaranjan (b)Y Kapurthala

(c)]AEHT Yalahanka (d)ATT Perambur
o A% -3t F&ua & Railway Board is situated at
(a}®\®IcTKolkatta (b)lil!' Mumbai
(c)SaTgTaGAllahabad (d)iE ReeeiNew Delhi

g Yo faegdiaor rew 1 g ——% Rua b
The Headquarters of Central Organization for Railway Electrification (CORE} is situated
in

(a)aroreT  varanasi (b) Fwé Mumbal

(c/5ee@IE  Allahabad (d)j7% oo  New Delhi

S F1900/- % Fies ftw & wg & weafa & v 3rSe faehy
wdreT Fr FARAT T 7 IHRAOT WK LSS FAT A g &
3t F ———ge A &

There will be relaxation in qualifying marks for SC/ST employees against reserved
posts In the written test of departmental examination conducted for promotion to the

post of Junior Clerk in GP.Rs.1500/-.
(a)  20% (b)  30%

(c) 10% (d) 15%



o. TRl vl & QR uRd ¥ W IR W I GUE———- EHT
Penalty for loss of second class privilege passes is
(a) Rs.10/- (b) Rs.20/-
(c) Rs.5/- (d) Rs.50/-
10. w4 1000 fmedt &Y AT & AT e ST 7 FRWR TROT WA R
ST g
days of Joining Time is granted for journey of first 1,000 kms.
(a) 8f&Adays (b) 12 R days
(€  1sfe=adays (d) 10+ days
5 e & v Wl I o aand
State ‘True’ or ‘False’ for the following: 10X1=10
(1) U %7 JaN T Ao SRR W |
Indian Railway is the biggest employer in the country.
() TENeTe dier 7 I Rres @t (3l & anwilet & R 27 st ameor /e
%1 27% of reservation is applicable for OBC candidates In promotional quota.
(3)  Tper & FAAr A WA Aa g & 3 FiSchool staff are elgible for LHAP.
(4) w7 oftws Y gt & e Awg ¥
Mumbai Is the Headquarters of both Central and Western Railway.
5) cRuMmAHwhwadaE Rt
There is only one Railway Recruitment Board situated at Chennai in Southern Railway.
(6) ItwE, W o, I FAMY F SRA WHER &1 B W= d=g EiChalrman, Railway
Board Is ex-officio Principal Secretary to the Government of India in Ministry of
Rallways.
(7) AR W& 7 15 8 @ 39eetr §1There are fifteen Zonal Railways in Indian
Railway.
(8) Eflr Y@d & o: FHsw 39eey §iSouthern Rallway comprises of six Divisions.
(9) &% Tvw Ao F.1.1.2006 { Tre v 7% A
The New Pension Scheme was introduced with effect from 01.01.2006.
(10) T TF FUHR F 37 F AN 1 FHA ¥

Leave can be claimed as of right.



xi. e 3 Wi R IR A PRl et F 3 AR g8 wr Rarer w5
Expand any TEN of the following ABBREVIATIONS which are used In Rallways: 10X1=10

() DRM (2) CAO (3) LAP (4 CRB (5) CTG

(6) PCPO (7) PET (8) LHAP (9) ECRC (10) CCL
(11) ZRT (12) NPS

xn ARl Tt @ g wY T e v Reedt F & sJ9er 3o g
Solve the following problems and select your answer from the choices given. 10x1=10
(1) 2.75+.003+.158=
A.4.36 B.2.911 C.0.436 D.2.938
(2) 7.86x46=
A. 36.156 B.36.216 C.351.56 D. 361.56
(3) 56 %H & IFE VAT FT IaT HIFind the next term in the series: 3, 6, 9, 18, 27, 54,
A.81 B. 69 C.108 D.72

(4) 1 =¥ ¥ 15 BT # AT T FWhat s the ratio of 15 minutes to 1 hour?

A.2/3 B.1/4 C.1/5 D.1/6

(5) 10 ¥t &, 10 RfFwAt & 7 gt = gwan 100 At F 100 T A gF=A F A
frcetr Rfewat #r st B
10 cats caught 10 rats In 10 seconds. How many cats are required to catch 100 rats in
100 seconds?
A.100 B.50 C.10 D. 20

(6) w3 10 € F Il AT WA wRer ¥ wue T gy A A 21 fwd i
HeT T & 9 T e e gy 24 e ey ey i &7 W OqU #Rar §1 § I
#r g0 Fr Bl 7 I W=

A man completes a journey in 10 hours. He travels first half of the journey at the rate of
21 km/hr and second half at the rate of 24 km/hr. Find the total journey in km.

A. 220km  B.224 km €.230 km D.234 km



(7) @ Y mfdt & THAR @ AT 7:8 ¥ 3R gEd Y amdr 4 =et 3 400 Rh
ot & o gelr I AR e B

The ratio between the speeds of two trains is 7 : 8. If the second train runs 400 kms in 4
hours, then the speed of the first train is:

A. 70km/hr  B. 75km/hr  C.84km/hr  D.87.5 km/hr

(8) F A e 2R # wae 160 Rl s4fmfi/eer & (AR A T 3R 160 R

80 freieer TFaR & o B, 2R & wuw 320 fnelt ir eaw TR e B
A man on tour travels first 160 km at 64 km/hr and the next 160 km at 80 km/hr. The

average speed for the first 320 km of the tour is:

A. 35.55 km/hrB. 36 km/hr  C.71.11 km/hr D. 71 km/hr
(9) T dwAT W 40 wfdee 32 g

32 is 40 percent of what number?

A.12.8 B. 128 C.80 D. BOO
(10) 313-225=

A.112 B. 115 C.88 D.1115



